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Algebra 2 - Chapter 8 Review
Grell whether x and y show a direct variation, inverse variation, or neither.
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The variables x and y vary inversely. Use the given

whenx =7.
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values to write an equation relation x and y. Then findy
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Simplify. State any restrictions on the variables.
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Multiply the rational expressions. State any restrictions on the variables.
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Divide the rational expressions. State any restrictions on the variables.
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Perform the indicated operation. State any restrictions on the variables.
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Solve
the equation. Check for extraneous solutions.

17[2(x+7) o= 2x+20 <J QOHLQ
x+4 2x+8
(X +4)

2.20x+7) - a(alx+y)) = AX +a0
Ux+3) -4 (X+4) = Qx +20
Y128 -wx —lb = @x +20

1R = QAX+D
-0 -0
-8 = N

X A

Chneuc,
2(-y+3) _q = Q(-4)+3D
~4y+y 2A-4) +&
2(9’) 9 B ~ @420
"o =3
b _a-= ‘36
Y a0 oS




